| Efficiency vs Dxy |
>.0.02r
<

...............................

...............................

...............................................................

510 15 20
TP dxy (cm)

—=— DQM_original_stepZ_itbar-phasel-newgeom
—e— DQM_mkFit_step2_ttbar-phasel-newgeom
—— DQM_angle_step?2_ttbar-phasel-newgeom

—+— DQM_fast_step?2_ttbar-phasel-newgeom

0.1
£0.09
0.08

dz

ciency

£ 0.07
o
0.06
0.05

0.04

.......................................................

0.03

0.02

0.01

0
1

Ratio

0.9

0.8

0.7

2030
TP dz (cm)



	Contents
	Page 1


